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#include <stdio.h>
#include <stdlib.h>

struct Node
int flag
int id
struct Node *left
struct Node *“right
queue[100010

int main
struct Node *head
head queue |0
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head-~id
head->flag
head->left = NULL
head->right NULL

int i
int n
scanf ("%d" n
i i n, i
int k, p
struct Node “next NULL
next queue|i
scanf ("%d%d" k, &p
struct Node *temp queue |k
p
next->id i
next->flag
next->right = temp
temp->left NULL
next->left temp->left
temp->left->right = next
head = next
temp->left next
next->id i
next->flag
next->left temp
temp->right NULL
next->right temp->right
temp->right->left next
temp->right next
int m
scanf ("%d" m
i i<m i
int temp
scanf("%d" temp
queue | temp .flag

struct Node “temp head
temp NULL
temp->flag
printf("%sd ", temp-=>id
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temp = temp->right

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link:
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:namespace:%E7%BA%BF%E6%80%A7 %E8%A1%A8%E7%9A%84%E5%AE%IE%E7%8E%B0O

Last update: 2020/05/09 12:20

https://wiki.cvbbacm.com/ Printed on 2022/08/11 14:26


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:namespace:%E7%BA%BF%E6%80%A7%E8%A1%A8%E7%9A%84%E5%AE%9E%E7%8E%B0

	一道让我有所收获的题（线性表的组织）
	题目描述
	输入格式
	输出格式
	输入输出样例
	说明/提示
	样例解释：
	数据范围

	解题说明
	参考代码



